o] ol AFeH47} x5 3 W

afolat,

>
=%



=2 = -2 +kx S$HAdy=x+1 0] AZ TE F HofA
1 Stk o] T

D k>2 k<-1 @ k>3, k<-1 ® k>1, k<-1

@ k>3, k<-2 ® k>3, k<-3



T y=x>-8x+a® I} x=Tt] WHO xFEIT6, b

27

@ 12 ® 13 @ 14 ® 15



y=x+ (k=3)x + k o T Z7} x S} ThtA] b2 o,

D -1<k<T @ -1<k<8 ® 0<k<9

@ 1<k<9 ® 1<k<10



1
T

ol
rlo 4>

A

@1

@

N w

® 2

@

N | Ot

y= - 4 kx®] TREA AA y = —x 4+ 40 T ], P4 k)
?

® 3



Ady=ax+10 FolAdry=x>+x+2,y=—x*+4x 9
T met T 2] R A g O] gHO HE Aot e <a < B
oftt. o] W), a + B 9] Fh= FsHH?

@® -5 @ -3 ® 0 @ 3 ® 5



